SPECIFICATIONS

MITSUBISHI HIGH SPEED DIESEL ENGINE

MODEL MITSUBISHI S31.2
A & (S3L2-Z363SP)
A ( S3L2-Z363SPH)

For MEE
(POWER UNIT STANDARD)

A 97/68/EC, Stage3A CERTIFIED

For reference only

SPC-S3L-272(1/9)

RE

E &

/NETE

Nl || T

MEE

PDF

& am

5w 12,208 ﬂa

\_ i ENCINEERING DEPARTIENT g

PLEASE RETURN AFTER APPROVAL
APPROVED REMARKS

DATE -SIGNATURE

DATE Oct. 6.2000

MITSUBISHI HEAVY INDUSTRIES, LTD.

CHG DATE APPROVED CHECKED DRAWN

]

1

Apr.28.2008

1

o

P:PDFECAR

> B B

Jan.24.2008 . \ R.Touge
0ct.26.2006 AT ""%W [RNsgpas




Revised record

SPC-S3L-272(2/9)

No. Date Items New Old Remarks
Regulations,EU certified Stage 3A Stage 2 from 2007~
Specifications S3L.2-2263SP
/A | Jun.30.2006 addition
Spec.table 6/9pages addition
S3L.2-Z363SP S3L2-Z263SP
/A | Oct.26.2006 [Model name change For EU Stage3A, Sales
S3L.2-Z363SPH S3L2-Z263SPH request
Eng Assy 31B00-06261 31B00-06260 ch (based
- - ange(based on MEE
/A | Jan.24.2008 |Dimensions(Length) Approx. 548mm Approx. 536mm request 2008/Jan/18)
Cooling fan 380mm , suction 320mm, suction
Eng assy drawing (31B00-06261)| 1/2-CHG 1
Regulations Add engine type name Change fan spacer
Dimensions(Length) Approx. 568mm Approx. 548mm
A Apr.28.2008 | Lubricating oil CF or CH-4 class CD class

Fan spacer

31A48-01100(30mm)

MM434-493(10mm)

Change(based on MEE
request ), change fan
spacer to 30mm from
10mm




B> >

SPC-S3L-272(3/9)

1. Principal Particulars of Diesel Engine

General Specification
Standard

Model

Regulations

Type

Number of cylinders
Bore x Stroke
Piston displacement
Compression ratio
Rotation

Firing order

Engine weight(Dry)

A /\ Dimensions(Length)

(Width)
(Height)
Inclination(Continuous)
(Temporary)
Fuel
Lubricating oil
Output
Rated Power
Rating tolerance
Low Idle
High Idle
Rating conditions

Fuel consumption
Tolerance

Oil consumption

Fuel injection timing
Mean effective pressure
Piston speed

All items, unless otherwise specified, are in accordance with JIS and
maker's standards

Mitsubishi S3L2
S3L.2-2363SP,Z363SPH
(MHI.No.See spec.table)

97/68/EC Stage3A certified
Engine type " S3L2-Z363SP","S3L2-Z363SPH"
97/68/EC as last amended by 2004/26/EC

4 cycle water-cooled, vertical overhead valve, cylinder in line, swirl
chamber type

3

78mm x 92mm

1.318 liters

22:1

Anti-Clockwise rotation as viewed from flywheel side

1-3-2

Approx.135kgf

Approx.568mm

Approx.433mm

Approx.572mm

15°

30°(Max.30 min.)

ASTM diesel fuel oil No.2-D(JIS K2204 gas oil specification No.2 or 3)
API classification service CF or CH-4 class

See spec.table
+5% of nominal
See spec.table
See spec.table
I1SO 3046,Without fan
Barometric pressure : 100kPa
Ambient temperature : 298k
Relative humidity  : 30%
See spec.table
8%
Within 2.7g/kW-h{2.0g/PS-h)
See spec.table
See spec.table
See spec.table



Fuel system

Fuel injection pump
Fuel injection nozzle
Governor
Fuel filter

Min. required fuel feeding head
Max.static head of leak pipe

(return)

Lubricating system

Lubricating system
Lubricating oil filter
Oil pressure

Oil capacity

Oil dipstick

Cooling system

Cooling system
Engine water capacity
Cooling fan

Water pump pulley
Pulley ratio

Fan spacer

Water temp. switch
Thermo. Unit
Thermostat

Electrical system

Alternator

Voltage regulator
Alternator pulley
Starting system

Starter motor

Glow plug

Engine shut off system

SPC-S3L-272(4/9)

BOSCH type

Throttle type

Mechanical centrifugal type
Filtering paper type
100mm

200mmHg

Forced circulation by trochoid pump
Filtering paper type, full flow

0.29MPa~0.39MPa{3~4kgf/cm2} at duty run

0.098MPa{1.0kgf/cm2} min. at low idling

4.2 liters (Oil pan 3.7 liters, high level, Qil filter etc. Approx. 0.5 liters,
High~Low Approx. 1.8 liters)

Standard dipstick

Forced circulation of fresh water by centrifugal pump with thermostat
Approx. 1.8 liters

380mm diameter fan, suction

PCD 87mm

1.33 (Crankpulley : Water pump pulley = 116 : 87)

30mm

Yes

No

Open at 82deg.C - full open at 95deg.C

12V-50A

IC type (Built in alternator)
PCD 65mm

Electric starting
12V-1.7kW

10.5V,9.7A x4

Electric solenoid (ETR)



Intake and Exhaust system

Intake manifold(cover)
Exhaust manifold
Induction Resistance
Exhaust Back Pressure
<Remarks>

Engine color

Flywheel

Flywheel housing
Side gear PTO

SPC-S3L-272(5/9)

Upper side way

Upper side way

Max 1.96kPa{0.2mH20}
Max 6.57kPa{0.67mH20}

Black(MHI standard color)
SAE#T7-1/2
SAE#5

Allowable torque 39.2N-m{4.0kgf-m} total of front and rear,Clockwise
rotation as viewed from flywheel side,Gear ratio 1:1



A

A
AL

A
A

Spec table

Model

Output

Rated Power (Without fan)

Mitsubishi S3L2
S3L2-Z363SP
(MHI.N0.31B00-06261 1/2-CHG1)

18.3kW{24.9PS}/2500rpm

Rated Power (With fan, for ref.) 16.8kW{22.8PS}/2500rpm

Cooling fan loss(for ref.)
Low Idle

High Idle

Fuel consumption

Fuel injection timing
Mean effective pressure
Piston speed

Approx. 1.5kW

1000 £25rpm
2700(+30,-10)rpm
Approx.265g/kW «h{195/PS-h)
17° BTDC

0.67MPa{6.8kgf/c m}

7.7m/s at 2500rpm

SPC-S3L-272(6/9)

Mitsubishi S3L2
S3L2-Z363SPH
(MHI.N0.31B00-06261 1/2-CHG1)

21.2kW{28.8PS}/3000rpm
18.6kW{25.3PS}/3000rpm
Approx. 2.6kW

1000=£25rpm

3200(+30,-10)rpm
Approx.280g/kW «h{206g/PS - h)
21° BTDC
0.65MPa{6.6kgf/cm’}

9.2m/s at 3000rpm



2. Accessories ( Loose Supply )

SPC-S3L-272(7/9)

Parts Name

Parts No.

Q'ty

Remarks

SWITCH,OIL PRESSURE

31A90-10300

SWITCH,THERMO

MM432-104

SOLENOID ASSY

30A87-10042

Attached To Engine

A4
A4
A4



OUTPUT (kW)

SPC-53L-272(8/9)

MITSUBISHI DIESEL ENGINE
A MODEL S3L2-73635P
PERFORMANCE CURVE

ANWITHOUT FAN

15
1M w
= \ 65 = =
\ S =
v 55
(24, 9P§)
18. 3kW/2500rpm A\
(22.8PS)
20 // 16. 8kW/2500rpn
/// A
s’
//‘//- \
P |
217 NWITH FAN
10 ///
il
d \
—
o
\ =
| 200 T =
\ 280 = =
™ 270 =5
—— = 250 32
{} —
1000 2000 3000 %
LOW 1DLE ENGINE SPEED (rpm)
1000£25rpm NL/2700% 0rpm

IS0 3046 Total barometric pressure - 100kPa
Ambient temperature . 298k
Relative humidity C30%



OUTPUT (kW)

SPL-S3L-272(8/9)

MITSUBISHI DIESEL ENGINE
AMODEL S3L2-Z3635PH
PERFORMANCE CURVE

AN WITHOUT FAN

T
— = =
\ 0 S=
8T
30 \ 5
(28.8PS)
21. 2kW/3000rpm A
(25.3PS)
7 1A\18. 6kW/3000rpm
20 1
-
/ ez
/// /// \
////IE \
A1 \WITH FAN \
10 < \
|
| -
\ 200 =
— \ 280 2 =
B 270 =
T e 250 S
0 s
1000 2000 3000 =
LOW IDLE ENGINE SPEED (rpm)
1000£25rpn NL/3200%30rpm

|50 304¢ Total barometric pressure : 100kPa
Ambient temperature . 298k
Relative humidity c 30%



OIL FILLER CAP

LABEL, EMISSION

EXHAUST OUTLET-D - THERMO SWITCH-E
- ' = (JIS D 5403 PA) THI'S * HOLE' MARK HERE SHOWS THE No. 1
~ - ] PISTON IS AT THE TOP DEAD CENTER.
< < 22,5 22
4-M10X1. 25 f<///>
DEPTH 17 - i
167.3 A __ f . () —
GLOW PLUG = Nv .
3-M4X0. 7 \\igjf_l ¥ 106 -
R, q ¥
‘ It (—K23 DEPTH 20 :
0 _ | —_
29 30V B B — - 0 R _\\\ II\ / S 222.251.02
. o : = S\ tog,
(6619)¥—’ i _IL*} A | 33'381‘
i EANO T,
83‘1—,# _ . \ i
158 = . St ol ofil 175 FROM " = B-M10X1.25
o ; i L_) ENGINE CENTER Q THROUGH (6-MARKEDX)
= F— 209 FROM DEPTH 17(2-MARKED®)
ENGINE CENTER
< L | INJECTION PUMP < > g?ﬁg;%ngPACED
< 2 = - 2 = DEPTH 16
FUEL INLET-G ~ - - ENGINE No. o 7 _VIEW -
LABEL, ENGINE No.
AIR INLET-B
WATER OUTLET-C
SPEED CONTROL LEVER WATER PUMP
ENGINE HANGER - ~ FAN (SPACER t30)
~ WATER INLET-A -~ 2 - > (SUCTION TYPE $380)
FUEL OUTLET-H Se o L/ > “%“ﬁc 7 ) ENGINE HANGER
< < > <
AIR FLOW ' ALTERNATOR - = STARTER
(12V-50A 1C REGULATOR BUILT IN) < (12V-1.T7kW)
CONNECTOR OF STOP SOLENOID-F S (—\<?3 T v .
: . A A 376. 3 ; il
R R 01 g 4 331,06 SR ; ez
4 = ! ' A | —=UT
FUEL FILTER (292)K | = S A - =~ .
L = / nr ;I 218 5 | ) ) - -
o = GO L | 205. 94 |
M16X1.5H 1792.5 E_Q:LT.D __:—- \d = —1 | | & JK 170. 5 e —
THROUGH ] | 5y ¢ | =A_A
. W, L : = Cl A125.1 ~ ’ﬁ o
o e = - 63 AL = i
52,5 -~ + - LI = o w$ /| S Bl PSS D
T —L \o - he 16. 2 V faz]l === = .
WATER DRAIN PLUG 0— - i = b= - =10 09— - - 0 —= 0 li e e
. - S - Syl | 28 28 HEE ~| e | o= e e
(1/4-18 NPTF ACROSS FLATS 14) 36$ € o (T, LR =1 =y . : SN | - lEe o<
10 /ﬁ OTH LT 7 - , - | ow | —
. : : | . VoySS 2
OIL PRESS. SWITCH-E ( | | '[——' 4 169.6 b ! OV v
(J1S D 5403 PA) || \__L——- ” y 847 Virg.2 ” ~— == v
4-M12X1.25 RELIEF VALVE 194.5 8
DEPTH 20 74. 50,2 6-M12X1. 25 74, 5%0.]2 6.4 [P 23.8
18 60. 2 6-M12X1.25 0OIL FILTER 1800, 2 DEPTH B 60 8.6
e > é% DEPTH 21 2400 ¢ < ' <]
| < | PTO CENTER < < S
OIL LEVEL GAGE e L | €L<%€L' S OIL DRAIN PLUG 20 | . - = o = )\
o Do oS - - (M14X1.5 ACROSS FLATS 17) _ 5 - e N\ 2-M12X1. 25 < ° = - I8 51
‘f: ::S<»ci_ ﬁ: : 6 i f * é DEPTH 21 : : A‘
< © = - § - AR
S 567. 5 <l; _ 432. 6 - 2008
5. 9
(Z363SP ) N/
FOR MEE \z363SPH
o FULL-CAD
3060_(:237/08 1,98 RE SCALE E*EI%HK%H%%%'%EE%Z@B
o " 10 5| TG00ISH NEAVY INOTRIED, LTD. GENERAL ACHINERY & SPECIAL VERICLE NEADADATERS.
a0 W | BEE
m CHK , ] -,';'—
”T R. NAGASE | T.SHIRAKAWA N 3J1B00-006261

2008. 1.24

3 % $13° 12 #mEES 3 hewEe 4 8ue
@ezm | 41 OBIR 5 gug

6 ZFofh (BARZ)




4-M8X1. 25

STUD
P

&
S R @@/—

_ +10 .
PULL HOLD 1=105_4 B z N . ) 436 446
4+0.1 g <
e R IR A N ] ST
Lo ( )i |
(Fo) Lo < o % L | | ! . (Vo)
. . . : : o - $13 5 - | cl -
~ © ~ ey 7
= © N © - v 41\ N | %‘9 < > L $.4 4 . - -
— - ¢ 2 9| 55+0.2 |9
i —— T * . a~4e | v v
73 |
< >
BLUE
H-DETAIL G-DETAIL F-DETAIL E-DETAIL D-DETAILC(1:2) C-DETAIL B-DETAIL A-DETAIL
CONNECTOR EQUIVALENT TO (JIS D 5403 PA)
7222-6234-40 (YAZAKI)
TO MATE WITH
30A87-00600 (MHI) -~
7123-6234-40 (YAZAKI) 5
ce 2-M8X1.25
- BOLT
= INV. SPLINE @14X12X1
Eil =
E}_ Vv
4
><
48 9 139. 5 FROM
< > ™"ENGINE CENTER
DIRECTION OF ROTATION
GEAR SPEED:ENG. SPEED=1:1
- 1:2 i
K-VIEW( ) J-VIEWI((1:2)
193 4.5
< ><
IDLE
W
£ &)/_) | 3-26. 50. 1
TERMINAL * B’
M8X1. 25
TORQUE 10* N+m) ) 3 i
L—TERMINAL — U’ =
_\_ oio e
S-TERMINAL-E L&R CONNECTOR i =1 mﬁv -
(JIS D 5403 PA) CONNECTOR EQUIVALENT TO il sy T s )
7322-2128 (YAZAKI) — =
TO MATE WITH T Ky
MBO84-014 (MHI) ~1Y
7323-2128 (YAZAKI) ~ E§4?Ng FE(N)|\T/|ER> 3-M10X1. 25
B‘TEag'NAL P-CONNECTOR Q%i:))) GINE C EQUALLY SPACED
(TIGHTENING 0o avaiy O | 245.5 FROM
TORQUE 4. 9+IN- -
m) [oee sty ENGINE CENTER
MM409-660 (MHI) V-VIEWI(1:3)
7323-2215 (YAZAKI)
—
m:
KX
. AR
X=-VIEWI(1:3) 2008
1.29
(Z363SP ) N/
FOR MEE \zZ363SPH
L 159. 8 N @ FULL-CAD
W-VIEWC(1:2) _ X
rE sone | ZEBTENRIASHNER - REFTEXD
o - . ol UL s ey usTREn L. GEEBAL ACHINERY & SPECAL YEBICE NEADATERS
Helel] & & X BN (MSH) .E§ A
APPD m CHK DRN A, | ZAKA -,';'— 2
R. NAGASE _ 2
4 rsiuaeam) 0 31B00-06261 5
O 2 |7 pmsm e o (WAR)




"PO.5" ETY

MARK:PO. 5
(56) 59
F1.\.12 8 )4
4 [ap]
{ // " -
] - - 5
R ﬁ—t s
N
3.97
1
i}
t B
SPECIFICATIONS
Fa £ &
Q_P%EHAEK(;GEHESSI 49kPaf{0.5kgt/cm?)
5 B OB "
cwugcngr 12V-5W
=
CONNECTION b (—o—o—)
HEAS v F

SWITCH, 0IL PRESSURE

31A90-10300




19

J1§ D5403 PA

A N
- g
{ )
{ 3
[ )
I\’I T -
|
MI1G6X1. 5 " i 3
g18. 7
Tt #§
SPECIFICATIONS
E g e 111+3¢
OPERATING TENP ON=OFFE §%3.5%
I ON-OFF DIEFERENCE 843. 5%
= B
cgumcnugv 0. 25A, MAX.
CONNECTION a (—o™o—)
Y-EA(VF
SWITCH, THERMO MM432-104




STROKE
13.5

6.5

Al

14 4

. 8)

(153
=
<

PULL
PULL HOLD T
HOLD
=
BLUE
O
DETAIL OF CONNECTOR RED WHITE BLUE
CONNECTOR EQUIVALENT T0
7922-6234-40 (YAZAK!) EE R
TO MATE WITH WIRING DIAGRAN
30A87-00600 (MHI)
7123-6234-40 (YAZAK|)
+  #
SPECIFICATIONS
T E E &
RAT%D VOLTAGE DC12V
T F O = 7
EFFECTIVE STROKE 13. 520, 5mm
R PULL : 50A
RATED CURRENT HOLD @ 1A
FRBEZEE ocar120T
ALLOYABLE AMBIENT TEMP

VIR

SOLENOID ASSY JOAB87-10042




	表紙
	変更履歴
	要目表
	仕様一覧
	付属品表



